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. . . 1. Answer the following questions :
M.A. (Previous) Examination e wes & s A
ECONOMICS (1) What do you understand by convenience
(Quantitative Methods) sampling ?

gfaarger gfaeea ¥ o9 = 99ed § 7

uftwTTTere feferar (i1)) Write any fwo methods of Primary Data
Paper : MAEC-04 Collection.
WA T2 oo & his &l aieh fare |
Time : 3 Hours | | Maximum Marks : 80 (iii) Write the difference between positive and

negative skewness.
ThRNIcHS AR TR faomar |3 o= fafaw)
(iv) Which measurement of central tendency will

Note .— This question paper is divided into three Sections
A, B and C. Write answers as per the given

HSIIUConS. o use to compare the qualitative data ?
e - I yvA-w ‘e, ‘T @R ‘R i mmel § fawifsa © oS ALl I qerl W Rl B W o
T&% TUS & [TGIMIER TR & S AT | TETE TEE A 7
Section—-A 8x2=16 (v) Is second quartile equal to arithmetic mean
(Very Short Answer Type Questions) of the series ? (Yes/No)
Note .— Answer any eight questions. As per the nature of ;Tn gﬁ:{ TG S F AT ?ﬁ?:-g){

the question delimit your answer in one word, one .
4 y (vi) What do you understand by Normal

Distribution ?
question carries 2 marks. A= Ao | 9 = wEe 7

sentence or maximum up to 30 words. Each
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(vii) Write the name of any two National Agencies, 3. Find the inverse of the Matrix :
who provide the data of Indian Economy.

% & T el @ A fafen S wwd S
Sefeewe qea IUSTs AN o | 2 0 1
(viii) Is probability of an event numeric value ma
moI;e than ‘}1,’ ? (Yes/No}), fr e =1 wfoem ma Fif
F fREt e ® T w1 HEAHE qod 4 -2 1
‘U F eifem & TR ® 2 (BI/ET) 7 3 3
(ix) Write the uses of Index in Economy. 2 .01
sAeferaee | gEehiehl & SwEm fafe 4. (i) Write the uses of definite integrals.
(x) Define the regression. oy U & SyaN e
g w1 9Rwifia wisg | . . . : .
) (i1)) Write the conditions of maxima and minima.
Section-B 4x8=32 ~ o :
(Short Answer Type Questions) sfers s =1 v fafe
Note — Answer any four questions. Each answer should not 5. Calculate the Arithmetic Average and Standard
exceed 200 words. Each question carries 8 marks. Deviation from the following table :
(ﬁg@:ﬁfﬁ;am) Marks No. of Students
o .- fF=l 9 g3l & S W) T STUH Sl 0-10 )
sifrerag 200 vssi A UREIHT T T WA 10-20 4
8 5T 1 T 20-30 5
2. Find the profit maximising output, total cost, total 40 3
revenue and profit under pure competition, if 30
MR = 20 — 2x and MC = 4 + (x — 4)2. 40-50 6
AT MR = 20 — 2x @1 MC = 4 + (x — 42 & @ 50-60 3
SAfYshad @Y I aTell I, |A A, HA A 60-70 2

3R o1 o9 Y5 gfaAfTa w feafa & 3 i
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7= ORolt @ guR "eT wd gE foee i ufiee 9. Write short notes on the following :
HIST (a) Addition theorem of probability

UTHTF RNt = @@ (b) Multiplication theorem of probability
frafafea w dfaa fewfoat fafem .

0-10 2 (37) TifaeRar &1 AN THA
10-20 4 () iR 1 PE T
20-30 0 Section-C 2x16=32
30-40 8 (Long Answer Type Questions)
40-50 6 Note .— Answer any two questions. You have to delimit
50-60 3 your each answer maximum up to 500 words.
60-70 2 Each question carries 16 marks.
6. Write notes on the following : gue—+d
(@) Distinguish between simple and multiple . .(Tﬂﬁ )
linear regression frrder ;- Rl 1wl & SR T T oo S R SR
, o 500 vIssi H ufEfid HIfST) g% T9 16 3w T
(b) Coefficient of determination . ) .

. 10. What is Linear Programming ? How does linear
frfated = fewforr fafey programming provide the solution of problems ?
(1) TRV R Sl @ FirmE H SR Explain with example.

(F) TTe=em o T YESE T 7 W YIS SHE T S

7. What do you understand by Index Number ? How HY ITAH FIA ¢ ? I Hied TR HIFC
does the consumer price index constructed ? Discuss 11. Calculate the regression line X on Y and Y on X
it from given value of X and Y :

YashThl | AT N A © 2 UMK G FaRIh X
w1 fmi &9 fowan st § 7 == &t

8. Discuss the components and importance of Time
Series Analysis.

el S ToaIgeloor & GEEsh] X e i ==l HIfST |

AN B~ W =
r-h»-bl\)»—t%

MAEC-04/8 (5) TT-203 71urnOver MAEC-04/8 (6) TT-203



8 5
9 7
11 8
14 9

XWY AR Y W X & qfam= W@t &1 & T X

IR Y & gedi § 7o ifse
X Y
1 1
3 2
4 4
6 4
8 5
9 7
11 8
14 9

12. On the basis of the information given below about

treatment of 200 patient suffering from a disease,
state whether the new treatment is comparatively
superior to conventional treatment :

Treatment Favourable No. Response Total
Response

New 60 20 80

Conventional 70 50 120

Total 130 70 200

Test your result with help of % at 5% level of
significance. The value of y2 at 5% level of
significance for 1 degree of Freedom is 3.84.
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MAEC-04/8 (8)

T W difed 200 IFEN & ITER & Gy 7 A
T M A F SMHUR W TRy, fF T STAR. TR
SUER i g H TR ITUH § 7

ITAR STeheran gfdfsean | i wfafsean & Eagl
BRIl 60 20 80
T 70 50 120
Eayl 130 70 200

3 o9 9RO & 5% Teedl TR W y2 & g
TAE BT 5% TIhal TR R @A Hie 1 &
ferw 42 =1 99 3.84 Tl

A box contains 8 red, 3 white and 9 blue. If 3 balls
are drawn from it at random, find the probability
of the following outcomes :

(i) All the 3 red balls

(ii)) All the 3 white balls

(iii) 2 red balls and 1 blue ball

(iv) At least 1 white ball

(v)  One ball of each colour

(vi) Ball will be drawn in this order—first red, then
white and finally blue
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